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A/N—] 2 3 4 RER | NIBAL | BniG 3
1 |[EIFFAAL =8 06.46.46 | 26.61.26 0-2 3 0418
2 |F—LFHE 2019 I | 60.64.64 62.62.63 | 2-0 1
3 KEbLAF—L I | 62.16.62 64.46.60 | 2-0 2
4 |SThivbhlzs ! B 26.26.36 | 46.64.06 0-2 4 |0.333
B/\—k 5 6 7 8 BSER | BT | EAG R
5 |[7T=RA%&ELGH FI5 46.62.36 | 65.16.60 1-1 2
6 |Eo>&Avk 1% | 64.26.63 60.61.63 | 2-0 1
7 [LhZehnn 1% | 56.61.06 65.26.62 | 1-1 3
8 [FUBBAF—L R 06.16.36 | 56.62.26 0-2 4
C/\—Fk 9 10 11 12 | BB | JEfL |BgE
90 | ERBRENZLEY |EE 56.61.61 | 56.06.65 1-1 2
10 |AL&MZAL25T | RIFF| 65.16.16 63.26.63 [ 1-1 3
11 [Fz)—X KIEF | 65.60.56 60.61.62 | 2-0 1
12 |2=77=R&EH k= 36.62.36 | 06.16.26 0-2 4
D/\—k 13 14 15 16 RSEN | AL | BRiG3E
13 [5HBL1Do FI5 65.61.61 | 60.36.61 2-0 1
14 |[ZIFFIZFIC»HS {£% | 56.16.16 26.60.64 | 1-1 2
15 IO 2Ty 1£% | 06.63.61 65.46.16 | 0-2 4
16 [To o435 RE1—F4 Bl 62.06.46 | 56.64.61 1-1 3
< )—=T##EHE 2>
E/N\—F 1 2 3 4 R | NIEAL | EiGEE
1 [Eo2&HVE &= 63.65.16 | 52.14.14
2 |[F—LF@E 2019 FIf | 36.56.61 43.40.21
3 |Fz)—X FIRE | 25.41.41 63.62.63
4 [FIXZFEXIZeH'S &E 34.04.12 | 36.26.36
F/A—Fk 5 6 7 8 BN | IBAL | EniG 3
5 [S®&BLnDo FI5 65.62.63 | 40.42.30
6 |LhZEHn 1% | 56.26.36 14.14.41
7 | FRREDZZEO | £E | 042403 60.65.26
8 [KFEbrAF—L i 41.41.14 | 06.56.62




G/\—Fh 9 10 11 12 R | NIEAL | ERiG =
9 |[FIFXFOAFx &= 62.62.61 | 61.34.24
10 [ToPv5RE2—T+«- RIfF | 26.26.16 52.34.01
11 |ALeMZAL25T | RIfF| 16.43.42 36.46.46
12 |SSThivbhIRS ! B 25.43.10 | 63.64.64
H/\—k 13 14 15 16 BN | IBAL | BniG 3
13 [EYUBPATF—L I 46.60.62 | 43.43.10
14 |INEBDO 2Ty 5% | 64.06.26 34.23.42
15 [2=7T7=R&EH 1£% | 34.34.01 65.26.63
16 |[T=RAXEB5 % 43.32.24 | 56.62.36




